EARAROBEEIERT — 2 N— IBISH —F

2017558280 (H) SEIEER2H

m C2+t# ¥5%—M B R
[AE4£] 17 :200,000 ™ ~ 237%&:40,000”  337%&:20,000H” . 43&:14,000H 53 :6,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
W= — Gl :28. — . — RS (B
1188 T7AIZTT)— it 6 54.02k 1(2_8)2 a2 5.2 ! (4_517) EHEARZ
RNAT ==L B:TL—3F FTh)T7—L
- 5 £ 4 | BN 1:29.1 5-5 38.3| — 5 42 | ERASE (KR)
ol 11| LTITHK “ " 6.0 ® (1) |EEIES
Z:arFaMy b B:IZ—FINERZX FRESS
— s N B 5K : - - TEERZ (BRE
3 NESPEPEIN o7 Bt 1(.12/92.>z 4-4 38.9 7 (4:350) Pl
R:7HA4FALANE B:wxNEIYYLY Bovie]
- . . ERRE : - — FEF= (BER)
4071 7| 3—WRT1ILR EE = 1(.12/92.)3 8-8 37.6 8 (4_112) mﬁa?xz—
R:id—RAqMO— B:HF/ 804 FrXFy hTr—L
ft 5 | WABER :29.3 6-6 38.3| — 3 515 | ==& (KiR)
EHG ZE—F—F1 K 54.0 (NF) (1) |EEED
K2R YZTZX B:~xih7a-)7> HET77—»4L
TR - EiREE 99, . . - =FHEE (KiR)
6l5/5|¥>¥&%V>>337 SR i 1<219)5 " o7 : (4+215) @#;km
R:ZFAT—ILR B:yav¥r74 IS
[T it 4 | BIEBRER 1:29.7 3-3 39.3| — 2 440 | =< AREARI (KGR)
7 gl 1T>hrs—-L 54.0 ) (-a) |FHRIEL
L:2FA4d—I K B:wThLy—<> FHBSE
S s s o B4 | AVHRE 1:30.1 7-7 38.8| — 4 418 | FHE (KR)
8 s E—E-UR-2 ¥¢53.0 (2 1/2) 3 | (B J P NHH
LA M=3>FK—L B:TrpL/—T7 p e
® I —F—@EBIERL
13—7—
23— —
G§a=7r= 5,8,3,4,1,6,2,7
43—+ — 5,8,3,4,1,6,2,7
[ RN
B OB 8 1504 714K 1-8 320M B E 1-8 800M &R 1-4-8 4,000
7 B 8 120 4-8 90| | & & 8-1 1,050/ | | 3:&& 8-1-4 11,280
1 330M 1-4 2,400/
4 720M

ABICOVWTRDTEEERROODE. TR LIV,




